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& 925,098
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== 1,620
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O LI A (B2 EERYY 23) 6,300
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o= 1,080
Al 2,520
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= 4,500
o= 540
Al 1,260
ArE FREXNH(EX) 8,000 0 8,000
= 4,000
& 2,000
Al 2,000
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402 QIZHXE01H 4,800 5,034 A234
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KNS ESFAISE (EX) = 250,000
& 30,000
Al 70,000
402 QIZEXE0|H 350,000 0 350,000
= 250,000
= 30,000
Al 70,000
01 QtR=8=x 350,000 0 350,000
OXSDESALS 350,000
= 250,000
= 30,000
Al 70,000
el 2| (KA 188,300 20,563 167,737
101 Q24| 4,140 7,963 A 3,828
10 JIZAH22ASES 4,140 7,963 A3,823
OAls Xtgzte] 4,140
—Jl2a 32,0003 x5 *10H »23] 3,200
— =g 32,0003 * 12 «10H »23] 640
—2HAH| 3,0003 x5 *10H »23] 300
201 ZEH23H] 12,000 10,600 1,400
01 At 2eld] 5,000 5,000 0
OguragH| 5,000
~2RY =ya42 5,000
03 SAI2ZHI 7,000 5,000 2,000
OAS s A 5,000
Q4 &t sl @A 2,000
202 O4Hl 8,160 0 8,160
01 3L 8,160 0 8,160
OME#HE oftl 8,160
307 QIZt0IA 2,000 2,000 0
03 At2IEHMExXS 2,000 2,000 0
OAZ2T ®AIS L MOIL 2,000
402 QIZHXE01M 162,000 0 162,000
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01 QIZIRI=22 X 162,000 0
OU=X==2D| 105,000
OU% ¥ §ez Zx%A X 57,000
MEZII|etEE ,554,779 2,397,837
= ,278,619
= 328,880
& 512,805
Al , 434,475
TEANSXA(BXR) 238,320 308,175
= 144,467
& 28,136
Al 65,717
401 Al&HIZ =204 182,504 255,621
= 101,054
& 24,416
Al 57,034
01 Al&H| 165,504 247,980
Oxg 165,504
= 92,794
= 22,876
Al 49,834
02 Zeltl 14,000 4,641
ox¥ 14,000
= 8,260
& 1,540
Al 4,200
03 Al&=C0HYI 3,000 3,000
Oxa 3,000
402 SIZ2HX =0l 55,816 52,554
= 43,413
& 3,720
Al 8,683
01 BIZEXI=22 =X 55,816 52,554
SCEIES] 55,816
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= 43,413
& 3,720
Al 8,683

=IO RIIAMY X2 (Ex) 3,538,080 1,485,617
= 2,134,152
= 443,559
Al 960, 369

101 @IAH| 16,853 0
= 10,112
& 2,022
Al 4,719

10 JIZtHZ2Z2NSEs 16,853 0
OZZARIIRI| MBEAE 16,853
= 10,112
& 2,022
Al 4,719

401 Al &BI20HYI 2,604,450 1,208,376
= 1,565,334
& 334,116
Al 705,000

01 A&l 2,399,450 1,128,376
O=JtRJ| 2,399,450
= 1,365,334
< 334,116
Al 700,000

02 Zeltl 200,000 75,000
O=It37)| 200,000
= 200,000

03 AIZ=0HdI 5,000 5,000
SEPIE:Y] 5,000

402 QIZ2HX=0|A 916,777 239,741
= 558,706
= 107,421
Al 250,650

02 CIZ2HCHH AL HI 916,777 239,741
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=2 558,706
< 107,421
Al 250,650
AZAE(2X) 411,100 378,441 32,659
z 328,880
= 41,110
Al 41,110
401 AlZHIZ=0HY 411,100 378,441 32,659
7 328,880
= 41,110
Al 41,110
01 Al&H] 406, 100 373,441 32,659
OY Al 406, 100
= 328,880
< 41,110
Al 36,110
03 Al&=CHHI 5,000 5,000 0
OYEAIL 5,000
U= AIE (RHH) 367,279 225,604 141,675
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02 SIZHCHE AN b 100,000 0 100,000
OLERX B4 (125Kkn) 100,000
YNABS 3,148,651 1,975,050 1,173,601
= 652,397
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el AETEES (ol xg)
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 ggi B2
402 QIR OIF = 2,293
Al 5,351
EETENEL 12,741 0 12,741
O= XSS 0/2B2 =4 12,741
2 5,007
= 2,203
Al 5,351
405 THeHE S 8,400 9,900 8,500
= 7,360
= 3,312
Al 7,728
01 XAYSEFSH] 18,400 9,900 8,500
OJIH & AETBAIAE (L) 7,000
2 2,800
= 1,260
Al 2,940
OJIH &t AZUBAA(SH) 6,000
2 2,400
= 1,080
Al 2,520
ORUSREI 2Y(HFSTE) 5,400
2 2,160
= 972
Al 2,268
M-MEIA ZF(2E) 219,498 182,487 37,011
=2 131,699
= 26,339
Al 61,460
101 Q124Hl 216,215 155,027 61,188
= 129,729
= 25,945
Al 60,541
10 JIAHNZ2HSES 216,215 155,027 61,188
ONEES L (LR2IEE) 154,000
2 92,400
= 18,480
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K- E3 .S (3H) - MBAY - B Ao gggf; HRS2

B4 FHI(EX) = 3,612
= 3,658
Al 50,808

401 A&HIZER 58,078 52,800 5,278
= 3,612
o= 3,658
Al 50,808

01 Al&H] 57,578 52,300 5,278
OEs+ & 57,578
= 3,612
o= 3,158
Al 50,808

03 Al&S20iY] 500 500 0
OBsS4 &H| 500
< 500

sS4tz Z&el(BEX 658,445 30,560 627,885
= 137,533
= 96,274
Al 424,638

401 AAEBIZZR 658,445 30,560 627,885
= 137,533
= 96,274
Al 424,638

01 Al&H| 656,445 29,560 626,885
OSH2 =& 656,445
= 137,533
< 94,274
Al 424,638

03 Al&R0iY| 2,000 1,000 1,000
Osatz JH| 2,000
= 2,000

A SEH R (EX) 387,533 325,266 62,267
= 258,036
< 38,849
Al 90,648
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SN EB -GS - MBAY - BES 0 & 24 e HRE2
101 Q12| 194,626 92,850 101,776
= 98,430
= 28,859
Al 67,337
10 JIZH22XNSES 194,626 92,850 101,776
OXUSRHEESE =Z3A EX& 5,364
= 3,755
= 483
Al 1,126
OWZZ M 186,816
= 93,408
= 28,022
Al 65,386
OXN=sd 2hl 1,227
= 637
= 177
Al 413
Oxsd 2l 1,219
= 630
= 177
Al 412
402 QIEE0IM 186,907 193,617 N6,710
= 156,606
& 9,090
Al 21,211
02 CIZtCHE AL HI 186,907 193,617 A6,710
OALAURHHEZSE LIS A 81,667
= 58,587
= 6,924
Al 16, 156
OAUSUHEY SZYH 46,493
= 43,585
= 872
Al 2,036
OALURTHHEESHE LIRFA 58,747
=2 54,434
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Al 2,100
01 L ESFHSHI 6,000 0 6,000
OJlHs,s883) #L 6,000
= 3,000
T 900
Al 2,100
AZEIIBIAIE (B X) 100,000 0 100,000
T 100,000
401 AIEHIZL 2 0HYI 100,000 0 100,000
= 100,000
01 Al&H| 100,000 0 100,000
Ooutg=xd Bots &Xl 30,000
= 30,000
Ogxts satzg &X 70,000
= 70,000
AHS X CHEH (REAN) 961,866 903, 139 58,727
101 Q14| 536,176 507,149 29,027
10 JIZH2E2NSES 536,176 507,149 29,027
OUMEXAZAIA 121,072
=Jl== 32,0002 x168L x14H 75,264
—F=X==E 32,0008 *28F*14Y 12,544
—Extg 32,0002 x6 2 14X 2,688
—5222Y 32,000& *1.5%x28 x14H 18,816
— A2t Y 6,000& 2 A 2H%282 x14H 4,704
—2tAlH| 3,000 *168 x14H 7,056
Ot XS ZAIA 415,104
=JI=2= 32,0003 168! x48H 258,048
—F=Xtg 32,0003 *283=*48H 43,008
— @A Xt 32,0003 x6 ! x48H 9,216
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SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
OMEFEN DSEA S
200,0002! * 15% 3,000
12 JIERA 6,500 6,500 0
OMZADT BA3 100,0002 153! 1,500
OMZTSTIHR 212t B4
500, 0002 %102 5,000
308 XSSO 273,690 273,690 0
05 RACTHA=LS 273,690 273,690 0
OMEREEI| BSYT 273,690
401 Al&HI L2 O] 35,000 30,000 5,000
01 Al&H] 35,000 30,000 5,000
OUZBEHII(SHE) 35,000
2O S 2 RICH R (KA 139,440 125,449 13,991
CIEY] 70,800 56,449 14,351
B EENEEES 70,800 56,449 14,351
OXA2 24 BHELM L 22l 28,320
—Je3 44,7002+ 1002 ¥52 22,350
—ERaY 44,7002 165 +5% 3,576
— RS 44,7002 ¥4 #5 % 894
—2AL| 3,0002 #1002 *5 1,500
OMES YR =eic 42,480
—Je3 44,7002+ 1502 +5% 33,525
—ERaY 44,7002 x247+5% 5,364
—ER g 44,7001 +6 2 +5 1,341
—2tA| 3,00021 #1502 *5 2,250
201 Lsr2 | 8,000 8,000 0
2 ZZ=gul 8,000 8,000 0
ON&ZHISR bl 8,000
—HHS LML 2l 5,000
~WHEY Tl Syl 3,000
206 &bl 50,640 49,000 1,640
01 W&l 50,640 49,000 1,640
OMEE UM XN 5,000
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SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH loﬂli\_FOH Hns2
OM&=Yg ZH 2 5,000
ogtuRea2H Al 12,0002 *860ha*23| 20,640
Otz galls A 100,000& *100ha 10,000
Ottelgol s |54l 5,000
OM&E=E™ WM |FHI 5,000
301 LetEa3a 5,000 5,000 0
12 JIEIE A= 5,000 5,000 0
ONM&d=Y &M o AX 24
500,000& 1024 5,000
405 RAHAHR SHI 5,000 7,000 A2,000
01 T ESHSHI 5,000 7,000 A2,000
ONMdsgENE 500,000& = 10CH 5,000
FE=22| (XA 320,000 98,900 221,100
201 LBtEAY| 25,000 30,000 25,000
01 At222/d| 25,000 30,000 A5,000
Oget=gH| 25,000
=&t X228 =5 25,000
206 = H| 3,000 0 3,000
01 M=Hl 3,000 0 3,000
o= tgd=sd ¢ 2= X 3,000
401 AI&HIZLS20HYI 290,000 66,500 223,500
01 Al&b| 290,000 65,000 225,000
Os5F= MKAE X Abl 130,000
OESFS GtE =3 & 2= 10,000
O= Y=z =4 150,000
405 KHAHFESHI 2,000 2,400 A400
01 XML SEFSHI 2,000 2,400 A 400
Oul# 2| 2,000
ESNEATA 3,121,612 2,914,101 207,511
= 103,800
= 716,140
2,301,672
MBS D8 S 3,121,612 2,914,101 207,511




SH AMR=T
B DR=KEA
el MRRAIIY 2B (el @)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
MEF A EE = 103,800
& 716,140
Al 2,301,672
oz 2e|(Bx) 850,000 650,004 199,996
e 425,000
Al 425,000
101 el2H] 91,488 84,962 6,526
= 45,744
Al 45,744
10 JIZAtH22ASES 91,488 84,962 6,526
OEE3Zd 22RE 91,488
—Jlaa 32,0003 80 25H 64,000
< 32,000
Al 32,000
— ==Y 32,000& *11==+25H 8,800
= 4,400
Al 4,400
= PNE= 32,000 x3 25 2,400
= 1,200
Al 1,200
—2+AlH| 3,000& 80 x25H 6,000
= 3,000
Al 3,000
—dHEEE 75,200,000& *0.022% 1,655
= 827
Al 828
~108, Y, 2WVA3LHE
75,200,000& *0.0749% 5,633
< 2,817
Al 2,816
—3azeloR 222 Y
120,000 *25H 3,000
s 1,500
Al 1,500
201 LAY 50,970 58,742 ANT,TT2
& 25,485
Al 25,485
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SO (B H) - HEAY - B2 Al OH &EIE Hn=2
o=\ T ° - = S = =5 O:H{ﬂ,% Lsa
01 AtER2teldl 31,696 37,527 25,831
Ogel=Z4| 23,706
—CE32 29Y 23,706
& 11,853
Al 11,853
Oul=tl 3,300
—SRIRA 2R=E F 150,000& *22Z 3,300
== 1,650
Al 1,650
Oz &l 1,500
—d) 32 1,500
& 750
Al 750
Oogdxt=z 3,190
— &I HA=X 2,000& x1,595m" 3,190
= 1,595
Al 1,595
02 =229l 19,274 21,215 A 1,941
03323 ¢ HA 9,000
—CEH3IR 2Y 2323 9,000
= 4,500
Al 4,500
Od =zl 4,274
—CE3 el A 4,274
== 2,137
Al 2,137
OAMEHBISXIHI 6,000
—cuza AgE
1,500,000 *4JH &~ 6,000
& 3,000
Al 3,000
401 AUl =204 700,000 500,000 200,000
= 350,000
Al 350,000
01 A&l 698,000 494,000 204,000
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SEEFERFEEETIGES) 598,000
= 299,000
Al 299,000
O32uss=z Fdl (2km) 100,000
= 50,000
Al 50,000
03 AlZ=201dl 2,000 6,000 A4,000
OZAFSALTREH| 2,000
< 1,000
Al 1,000
405 XHAHESHI 7,542 0 7,542
= 3,771
Al 3,771
01 A =SSFHSHI 7,542 0 7,542
OZAULSAE &X 7,542
= 3,771
Al 3,771
=XNLAPEAL(BX) 833,000 851,000 A 18,000
= 260,000
Al 573,000
401 AIEHIZSOYI 833,000 843,000 A 10,000
= 260,000
Al 573,000
01 AI&HI 830,000 838,000 /8,000
OdE=H=31Z 2 AtZ 2t 397,000
= 119,000
Al 278,000
ojtggt x4 80,000
= 40,000
Al 40,000
OS4% NS2Te8 438 X4 353,000
= 100,000
Al 253,000
03 A& =0 3,000 5,000 2,000
OMEBFH=ETI AL 3,000




SA
X XH .
(=

chel:

.S (BH) - MISAY - B2 Aol Soe HRZ2

= 1,000
Al 2,000

TAEXZLEAIHE(EX) 7,600 6,000 1,600
= 3,800
== 1,140
Al 2,660

401 AlEHILL20iH] 7,600 0 7,600
= 3,800
= 1,140
Al 2,660

01 Al&H| 7,600 0 7,600
O A AEHZ AL 7,600
= 3,800
= 1,140
Al 2,660

CASMBAXLA(EX) 200,000 0 200,000
= 100,000
== 30,000
Al 70,000

401 AlZHIZLE204b] 200,000 0 200,000
= 100,000
== 30,000
Al 70,000

01 Al&HI 200,000 0 200,000
O28A TA=s= =4 200,000
2 100,000
o= 30,000
Al 70,000

SXYeD A2 (KHA) 1,219,012 1,407,097 A\ 188,085

101 Q14| 253,152 240,715 12,437

10 JIZHZ2=XNEES 253,152 240,715 12,437
OLRE & UAAEX 22 239,193
—Z00Is 116,960
=23 32,0003 x160L x17H 87,040
FX=g 32,000& *323=+17H 17,408




AN M=
B Del=K A
el MRRAIIY 2B LR
SA-HH O (SIH) - NEAY - BaS 0f Ao ad s HRZ2
0] & o8
[SPNESE=Y 32,0003 x8 «17H 4,352
2HANH| 3,000& *160L * 17X 8,160
—XCI2D], 0=, E==222S (J1H) 122,233
=23 48,5303 x 160 x12H 93,178
F=x=¢ 48,530& x32F=*12H 18,636
[SPNEST=] 48,5303 x8 x12H 4,659
2HAH| 3,000& *160L x12H 5,760
OJ24 2 M=2Eiel2els  (I1AH) 13,959
—JI2= 48,530& x 110 »2H 10,677
—F=E=E 48,530 x22F=*2H 2,136
-\ xt=g 48,530 x5 x2H 486
—2HAIH| 3,000 & * 110 x2H 660
201 B2 IH| 31,340 27,830 3,510
01 AR 22|l 12,700 11,310 1,390
Oget=gH| 4,460
—&CES 9 HE 50,000& *100H 500
—&OEsS 2tE M & 350, 000& *x6IH 2,100
—HgXAX 2= & 500& *1,500m 750
— o2& Ot 400& *1,000H 400
—&AE2 U ONEE 10,000 *71 710
o=2gsg 980
_ol24ssins HMag
70,0003 x7H x23| 980
OYxt= 7,260
— &2 =24 484,000 x15 7,260
02 2224l 18,640 16,520 2,120
O=2222 ¢ HMA 2,000
—=12g8 83522 2,000
OA&EEBIR X b 16,640
—EaH g2 500,000& *2CH *33] 3,000
—&CI20H2=2) 500,000& *2CH *33| 3,000
—&C20otg e 700,000& *2CH 3= 4,200




2AM: AE =X
B BEA=KEH
Chel: MEIEIY BB LR
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
—0l=DJIz=¢l 100,000 & *15CH *23] 3,000
—0=J1g ¢ 3,000& *12CH *403| 1,440
—dxEY 7 10,000 & *5CH #1038 500
—SEAM&CI 2D 2 200,000& *23| 400
—SAEMO2IY 7Y 220,000& *53| 1,100
206 = bl 73,520 81,552 A8,032
01 TH=HI 73,520 81,552 A8,032
OLEE A FaHE2e 15,200
—S5gtlges #¢ 13,000& *500 & 6,500
—SJ8blgs ¢ 3,000& *1,000% 3,000
—H=H 72 6,000& x5004 3,000
—&=H 2 10,000& *1504 1,500
—aZH 7L 8,000& 1504 1,200
Og L2 =X 2l 58,320
—Sgtdlges #¢ 13,000& *500 & 6,500
—SJ8blgs < 3,000& 1,000 3,000
—aZH7Y 8,000& *5004 4,000
—0tAF R(BAE) 10,000& *500m* 5,000
— &0 P (AE=XEA) 200& *50,000& 10,000
—SMHY JAZX L5 P2
50,000 *504 2,500
14,000
12,000
5,000 *4 ¢ x22CH *32] 1,320
1,000 0 1,000
1,000 0 1,000
OJtz= & AN 243
100,000& =10 1,000
401 A&BIZL 2004 850,000 957,000 A 107,000
01 Al&H] 850,000 957,000 A 107,000
OAMESF HR3E 2 20,000
O=2&&2b6s68s 9=HMA 30,000
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